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CERTIFICATE IN TELECENTRE/VILLAGE 
KNOWLEDGE CENTRE MANAGEMENT 

(CTVM) 

Term-End Examination 

December, 2013 

OXE-021 : TELECENTRE AND COMMUNITY 
INFORMATICS 

OXE-022 : PLANNING AND MANAGEMENT OF 
TELECENTRE 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) Attempt all sections A, B and C as per the directions 

given in each section. 
(ii) Marks of each section are indicated against each 

section. 
(iii) Answers should be brief and to the point.  

SECTION-A 
(CHOOSE THE BEST ANSWER) 

(i) Answer all questions. 	 10x2=20 
(ii) Each question carries 2 marks. 

	

1. 	In India telecentres are also known as 	 
(a) IT Clubs 
(b) Nenasalas 
(c) Village Resource Centres 
(d) Community e - centres 

	

2. 	Which of the following is not a critical component 
of community development ? 
(a) Building support 
(b) Making a plan 
(c) Maintaining momentum 
(d) Conducting elections 
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3. 	Which of the following is not a local service 
provider ? 
(a) World Trade Centre 
(b) Internet Service Provider 
(c) Hardware Supplier 
(d) Banks and Insurance Agencies 

4. 	Which of the 
stakeholder ? 
(a) Farmer 
(c) Women 

following is the secondary 

(b) Students 
(d) Internet groups 

	

5. 	Which is not an ideal location for a telecentre ? 
(a) Market place 
	

(b) Bus Stop 
(c) Railway Station 
	

(d) Car Park 

	

6. 	Which of the following is not a computer 
hardware ? 
(a) Microsoft Office 
(b) Printer 
(c) Central Processing Unit (CPU) 
(d) Scanner 

7. Among the following whom would you reject as 
a telecentre volunteer ? 
(a) Students 	(b) Part-time workers 
(c) Old People 	(d) Self-Promoters 

	

8. 	In telecentre management, a person's soft skills 
are more important than his technical skills 
(a) True 	 (b) False 

	

9. 	Which is not an aspect of better time management ? 
(a) Listing goals to be achieved 
(b) Prioritising action 
(c) Focusing on result oriented action 
(d) Changing plan frequently 
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10. Which among the following is not a capital 
expense ? 
(a) Equipment (b) Furniture 
(c) Salaries 	(d) Security Deposits 

SECTION - B 
(SHORT ANSWER) 

(i) Attempt any five questions choosing atleast 
two questions from Part-I and Part-II. 5x6=30 

(ii) Each question carries 6 marks. 

PART - I 
11. Briefly describe the Indian telecentre movement. 

12. Explain briefly any five steps involved in setting 
up a telecentre. 

13. What do you mean by State level mapping ? 

14. What do you mean by "Information Flow" ? Why 
do we need to know about it ? 

PART-II 
15. Briefly explain your priorities in selecting a 

location for your telecentre. 

16. What do you mean by telecentre management ? 

17. Explain briefly the human resources necessary for 
a telecentre. 

18. What are the communication skills necessary for 
a telecentre manager ? 
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SECTION - C 
(ESSAYS) 

Answer two questions. Each question carries 
25 marks. 	 2x25=50 

19. (a) Explain in detail how you will establish a 
telecentre in a rural set-up to cater to its 
community needs ? Give examples. 

OR 
(b) With the help of a diagram, explain what is 

information access and flow and how your 
community is benefitted by these ? 

20. (a) Explain in detail, the components of 
Telecentre Planning with suitable examples. 

OR 
(b) Prepare a business plan for setting up a 

telecentre in your locality, and indicate how 
each step contributes to achievement of your 
objectives ? 
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